Cloze exercise (D)

Read the text through first. The missing words are all verbs. Decide which verb fits best. When you have finished discuss your choices with a partner. If there are any differences decide together on the best verb.

SHARKS

Sharks are ﬁsh. They ____________ to the group called Elasmobranchii.

Sharks ____________ in waters all around the world. They ____________ in every ocean and in some rivers and lakes.

Other ﬁsh ____________ bones but sharks don’t. Their skeletons are ____________ from cartilage which is not as hard as bone.

Sharks can ____________ in size from 18cm to 15m but most sharks are in the middle, around 1.5m - 2.1m in length. Most sharks have bodies shaped like cigars so they can ____________ easily in the water.

Sharks ____________ about 5 rows of teeth. The front teeth ____________ the biggest. Sharks don’t ____________ most food. They eat it in big pieces. Many people are ____________ of sharks because of their big teeth but they don’t usually ____________ people.

All sharks ____________ carnivores (meat eaters) and they may ____________ ﬁsh, squid, other sharks, marine mammals and other small animals.

